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Mean 6.656 Mean 3.167
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X2/ ndf 44,01/ 49 X2/ ndf 60.71 /49
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Gem=B_V strip=8 cut=b |
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Mean 8.186
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X2/ ndf 62.34 /49
ampl 343.8+ 4.7
ped 7.331+0.116
sig 10.39.+ 0.10

Gem=B_V strip=9 cut=b |
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Entries 9079
Mean 13.47
RMS 17
X2/ ndf 54.1149
ampl 341.4+4.6
ped 12.69+ 0.12
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10°

10.47 + 0.09

10?

Entries
Mean
RMS
X2 I ndf
ampl
ped

sig

9079

15.56

17.37

58.02 /49
340.1+ 4.6
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Entries 9079

Mean 12.97
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ampl 3484+47 |  Frofle-
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sig 10.28 + 0.10
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Entries 9079
Mean 12.75
RMS 14.88
X2/ ndf 42.68/48
ampl 349+ 4.7
ped 12.15+0.11
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Gem=B_V strip=15 cut=b |

10.28+ 0.10
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BV012b Gem=B_V strip=13 cut=b |
Entries 9079
Mean 2.493 -
RMS 19.72 F
X2/ ndf 59.61/46 M
ampl 355.6 £ 4.9 M
ped 1.63+0.11 102
sig 10.05+ 0.10 E
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BV015b
Entries 9079
Mean 6.712
RMS 16.65
X2/ ndf 73.61/47
ampl 355.5+4.9
ped 5.953+ 0.113
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BV013b
Entries 9079
Mean 11.71
RMS 14.78
X2/ ndf 53.79/ 46
ampl 3489+ 4.7
ped 11.19+ 0.12

10.29+ 0.10
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Gem=B_V strip=16 cut=b | BV016b
Entries 9079
Mean 9.981
RMS 16.54
""""" X2/ ndf 44.2 149
AR ampl 3426+ 4.6
ped 9.275+ 0.117
sig 10.48+ 0.10

Gem=B_V strip=17 cut=b |
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Entries 9079
Mean -1.611
RMS 16.2
X2/ ndf 34.751 47
ampl 362.3+4.9
ped -2.258+ 0.110
sig
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Gem=B_V strip=18 cut=b | BV018b
Entries 9079
F Mean 13.91
F RMS 14.06
r X2/ ndf 49.23/ 45
R | R S ampl 357.5+4.9
10 ped 13.49+0.11
sig 10.01+ 0.10
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o Mean 5.36
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A ampl 31+49 |  [UUfEC
ped 4.795+0.110 10?
sig 9.94+ 0.09
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Entries 9079 Entries 9079
Mean 11.93 E- Mean 0.1703
RMS 16.76 F RMS 16.58
X2/ ndf 40.3/45 o x? I ndf 50.78 / 47
ampl 3524+ 4.8 N | ampl 352.9+ 4.8
ped 11.24+0.12 10? ped -0.3573+ 0.1136
sig 10.17 + 0.10 sig 10.17 + 0.10
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r Mean 17.75 Mean 2.103
I RMS 15.72 RMS 14.26
I X2/ ndf 53.06 / 48 X2/ ndf 401/ 48
RN £ N ampl 349.3+ 4.7 ampl 357.1+ 4.9
.| ped 17.2+0.1 107 ped 1.557 +0.111
i1sig 10.28 + 0.09 i 10.05 + 0.09
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Gem=B_V strip=24 cut=b
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Entries 9079
Mean 15.82
RMS 16.25
X2/ ndf 46.08 / 48
ampl 346+ 4.7
ped 15.23+0.12
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Entries 9079
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RMS 15.14
X2 I ndf 44,58 | 46
ampl 359+ 4.9
ped -0.9422+ 0.1117

sig 9.987 + 0.095
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Entries 9079
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o X2/ ndf 50.76 / 45
"""""""""" ampl 352.7+438
10 ped 8.717+0.116
sig 10.18+ 0.10
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BV027b Gem=B_V strip=28 cut=b |
Entries 9079
Mean 9.645
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X%/ ndf 34.44 /48
ampl 3533+48|  fofle
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sig 10.19+0.09
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Entries 9079 Entries 9079
Mean 2.314 - Mean 13.73
RMS 17.4 I RMS 19.19
X2/ ndf 48.26/ 4 M X2/ ndf 40.29/48
ampl 349+ 48 Fe ampl 346.8+4.7
ped 1566+ 0.115 102 ped 12.82+0.12
sig 10.26 + 0.10 3 sig 10.32+ 0.10
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BV030b Gem=B_V strip=31 cut=b |
Entries 9079
Mean 13.19
RMS 19.48
X2/ ndf 51.9/48
ampl 346.5+ 4.7
ped 12.33+0.12
sig

10

BV031b

Entries 9079
Mean -1.594
RMS 18.88
X2/ ndf 51.23/47
ampl 344.7+ 4.7
ped -2.429+0.118
sig
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Gem=B_V strip=32 cut=b |
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Mean
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X2/ ndf
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3.49+0.12
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Entries 9079
Mean 7.145
RMS 18.25
""" X2/ ndf 52.27 /50
""""""""""""""" ampl 3285+45
102 ped 6.391+ 0.122
10.89+ 0.10
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Entries 9079
Mean 11.75
RMS 17.9
X2/ ndf 54.59 /52
ampl 334+45
ped 11.02+ 0.12
sig

10,69+ 0.09

0 200 400 600

800 1000 200 400 600 800 1000
BV035b Gem=B_V strip=36 cut=b | BV036b
Entries 9079 Entries 9079
Mean 6.249 Mean -9.288
RMS 1748 | gt RMS 18.13
X? / ndf 4368/50 ([T X? / ndf 41.82/51
ampl 3346+ 4.5 ampl 331245
ped 5.621+0.120 10° ped -9.908+ 0.121
sig 10.72+ 0.10 sig 10.83+ 0.10
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Entries 9079
Mean 7.393
RMS 14.67
X2/ ndf 51.31/52
ampl 331.9+45
ped 6.99+0.12
sig
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Entries 9079
Mean 1.263
RMS 17.43
X2 I ndf 62.61/48
ampl 331.8+45
ped 0.4015+ 0.1222
sig 10.77+ 0.10
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Entries 9079
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ampl 329.6+4.4
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sig
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Gem=B_V strip=40 cut=b |
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Gem=B_V strip=41 cut=b | BV041b
Entries 9079
Mean -1.864
RMS 21.4
X2/ ndf 40.48 /50
""""""""""""""" ampl 333.8+45
102 ped -3.055+ 0.120
10.7+0.1
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Entries 9079
Mean -3.883
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X2/ ndf 42.38/50
ampl 3259+4.4
ped -5.683+0.123
sig
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_________ X%/ ndf 48.81/50 X%/ ndf 62.96 / 49
ampl 328.1+ 45 ampl 323+4.4
102 ped -3.243+0.122 102 ped 1.623+0.125
sig 10.81+ 0.10 10.94+0.10
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sig 10.76 + 0.10
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Entries 9079
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Gem=B_V strip=48 cut=b
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Entries 9079

""""""" Mean 7.157
RMS 33.25
X2/ ndf 5737/49 | [T

""""""" ampl 3146+ 4.4

.| ped 3.867+0.129 102

sig 11.24+ 0.12

Gem=B_V strip=51 cut=b
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BV049b Gem=B_V strip=50 cut=b ]
Entries 9079
Mean 11.77 F
RMS 32.04 F
X2/ ndf 36.5/49 r
ampl 328+45 RETEE] | EEREPREEEEPRRE
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sig
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ped 1.293+0.127 102
sig 11.15+ 0.11
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Entries 9079
Mean 7.501 o
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Entries 9079
Mean -1.819 -
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X2/ ndf 57.04 /52 L
ampl 318.1+ 4.4
ped -5.43+0.12 102
sig
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Entries 9079
Mean -1.288
RMS 35.82
X2/ ndf 77.91/57
ampl 291.6+4.1
ped -5.059+ 0.135

Sig 11.97+0.12
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Entries 9079
Mean 15.56
RMS 31.41
X2/ ndf 78.3/52
ampl 313.8+4.3
ped 12.64+0.13
sig 11.23+0.11
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Gem=B_V strip=56 cut=b | BV056b Gem=B_V strip=57 cut=b | BV057b Gem=B_V strip=58 cut=b ] BV058b
Entries 9079 Entries 9079 Entries 9079
F Mean 5.727 F- Mean 8.387 F-- -{ Mean -8.645
r RMS 37.76 L. RMS 36.63 [ RMS 33.94
i X2/ ndf 71.42/53 L X2/ ndf 72.16 /59 I | SRR X2 I ndf 63.99 /52
ampl 305.4+ 4.3 ampl 272.6+3.9 ampl 286.4+ 4.0
102 ped 1.794+0.131 10? ped 4,786+ 0.146 10° ped -12.18+ 0.14
sig 11.47+0.11 sig 12.77+0.13
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Y | -eeeeloo] X2/ ndf 124763 L. K.l el oot X2 00df 103.4 /60 R P B U D S 78.82/58

ampl 262.1+ 3.7 ampl 266.4+ 3.8 ampl 263.5+3.8

10° ped 7.214+0.149 10? ped -8.387+ 0.146 10° ped -4.11+ 0.15

sig 13.12+0.13 sig 12.76 + 0.13 i
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Gem=B_V strip=64 cut=b
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Entries 9057
Mean -15.08 F
RMS 35.66 [
X2/ ndf 98.79/53 I | S
""""" ampl 3152+ 4.4
ped -18.75+ 0.12 10% |
10.94+0.11
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Entries 9057
Mean 1.121
RMS 29.04
X2/ ndf 48.21/50
ampl 3221+ 4.4
ped -2.269+ 0.123
sig 10.87 + 0.10
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Gem=B_V strip=70 cut=b | BVO070b Gem=B_V strip=71 cut=b | BV071b
Entries 9057 Entries 9057
E Mean 6.462 Mean -0.2432
r RMS 3215 | [ RMS 33.66
i X2/ ndf s524/50 | [ AL X2/ ndf 57.98/50
ampl 327+ 4.5 ampl 319.7+4.4
ped 2.867+0.121 102 ped -4.056+ 0.124
Sig 10.68 + 0.10 Sig 10.93+0.11

10F

10

BV066b
Entries 9057
Mean -10.68
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X2/ ndf 59.9/53
ampl 291+ 4.1
ped -13.76+ 0.14
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Entries 9057
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RMS 29.07 r
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Entries 9057
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Gem=B_V strip=72 cut=b | BV072b Gem=B_V strip=73 cut=b | BV073b Gem=B_V strip=74 cut=b ] BV074b

Entries 9057 Entries 9057 Entries 9057

F R S 71 Mean 11.38 F- Tiiiiiiiiiiiiiiiit —{ Mean 9.467 F -] Mean -3.071

r -1 RMS 33.78 F- --{ RMS 32.83 F RMS 335
X2/ ndf 53.51/49 [ X2/ ndf 62.56 / 51 I X2/ ndf 48.66/ 48

"""""""""""""""""" ampl 332.6+ 4.6 r Tt ampl 319.1+ 4.4 I R orityampl 346.9+4.7

102 ped 7.695+0.119 102 ped 5.904 +0.124 107 k=) ped -6.902+ 0.113

sig

i sig 10,52+ 0.10 10.97.+0.11 10,04+ 0.09
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r a 1 x2/ ndf 67.14 152 TR "1 x2/ ndf 67.61/49 B X2/ ndf 37.26 /50

o il ampl 330746 [ T Tttt ampl 332.7+4.6 R 1 ampl 326.8+4.5

10? ped 6.863+ 0.118 10 ped 1352+ 0.12 107 ped 4.622+0.121

sig 10.57 + 0.10 sig 10.48 + 0.10 E sig 10.69 % 0.10

10k 10 10E

0 200 400 600 800 1000

i [ Pl el Tl et
0 200 400 600 800 1000 800 1000

BV078b Gem=B_V strip=79 cut=b | BV079b
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Gem=B_V strip=80 cut=b

10?

10E

| BV030b
Entries 9057
""""" 1...] Mean 18.24
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____________ X2/ ndf 68.45 / 49
: 1 ampl 3255+ 45
.{ ped 14.43+0.12
sig 10.72+ 0.10
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Entries 9057
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I 1 T ampl 328.4+45
102 ped 8.834+0.121
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Entries 9057
F Mean 12.09
F RMS 30.22
i X2/ ndf 60.74 1 49
R | B ampl 329.6+4.5
10% ped 8.787+0.121
sig 10.66 + 0.10
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Entries 9057
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sig 10.54+ 0.10
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Entries 9057
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Entries 9057
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ampl 334+ 4.6
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ampl 330.1% 4.6
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Entries 9057
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Entries 9057
Mean 18
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Entries 9057
F: Mean 22.39
3 RMS 31.17
[ X2/ ndf 65.83 /49
- ampl 331+ 4.5
ped 18.7+0.1
sig 10.5+0.1

10k

i

i il
600 800

rR ]
1000




Gem=B_V strip=96 cut=b
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| BV096h
Entries 9057
""""""" Mean 8.281
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X2/ ndf 35.94 /50
""""""" ampl 332.1+ 4.6
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Entries 9057
Mean 8.35
RMS 34.56
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"1 ampl 338+ 4.7
ped 4.323+0.117
sig 10.29 + 0.10
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I : ampl 335.1+ 4.7 ampl 329.9+4.6 R 1 . . *1ampl 343.6+4.8
107 b=::: .| ped 1.154+0.120 10° ped 7.267+0.120 102 ped 7.137+0.117
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ped -10.99+ 0.11 102
sig 10.02+ 0.09

ped ped -17.88+ 0.12

sig 10.45+ 0.10

102 -20.13+0.12 102

11+ 0.1

10 10 10

i H1{13 N B : BEFHH H HiiHE
0 200 400 600 800 1000 0 200 400 600 800 1000 0 200 400 600 800 1000

Gem=B_V strip=123 cut=b | BV123b Gem=B_V strip=124 cut=b | BV124b Gem=B_V strip=125 cut=b | BV125b
Entries 9057 Entries 9057 Entries 9057
Mean -2.877 o Mean -19.66 F-- Mean -8.88
RMS 28.01 [: RMS 30.08 N RMS 28.66
_________ X2/ ndf 47.65/ 49 X2/ ndf 45.38 /50 L. X2/ ndf 115.1/57
ampl 3205+ 4.4 ampl 3127+ 4.4 ampl 293.8+4.3
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L..... ampl 426.4+58 | L. B i, ampl 4445+ 6.1 e ampl 426.7+5.7
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